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Introduction
RAN4 is looking at the feasibility of  SBFD. A key metric is assessing the impact of SBFD is the impact on thruput under interference.  The throughput is calculated on just based on the mean SNR/SINR and the impact of small scale fading is ignored. Furthermore, interference is only limited to the first tier of interferers. It is  best to include also the second tier of interferers as this may impact the tails of the interference cdf.  The thrput cdf based on only SNR/SINR variation- so called “ static variation”  is going to very crude and possibly in accurate.  Conclusions based on this in accurate/approximate  approach may not be able to convince regulators ( and also operators)  to permit a variation of the  frame structure in their national spectrum allocations. of A simple way forward is outlined below:
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Procedure for thruput cdf estimation 
2.1 Base Line
1. In the lay out of desired and interfering cells, do a base line of no interference is no SBFD- all systems in adjacent band and adjacent cells are perfectly frame aligned and synchronized in both DL and UL.
2. Drop a UE, compute the SNR.
3. Determine if the channel is LOS or NLOS
a. For LOS case, simulate a random variable that follows the K factor distribution in 3HGPP 38 9-01 and chose a value of this RV.
4. Given (3a), simulate a Ricean channel for LOS and a Rayleigh channel for NLOS
5. Simulate base station beamforming
6. Estimate , SNR, DL and UL througput via all the required parameters in the calibration doc.
7. Move the UE to another position and repeat steps 3- 6
8. Repeat step 7 for at least 1000 locations
9. Compute SNR cdf
10. Compute DL and UL through put cdfs.
2.2 Interfering Adjacent channels and Adjacent cells
1. Drop a UE, compute the SINR.
2. Move the UE to another position and repeat step 1
3. Repeat step 2 for at least 1000 locations
4. Compute SINR cdf
5. Derive a RV from (4) that follows the same distribution as in 4.

2.3 Through put cdf estimation under interference: A simple procedure.
11. Assume a single cell.
12. Drop a UE, and  pick an SIN from  step 5 of 2.2 above
13. Determine if the channel is LOS or NLOS
a. For LOS case, simulate a random variable that follows the K factor distribution in 3GPP 38 9-01 and chose a value of this RV.
14. Given (13a), simulate a Ricean channel for LOS and a Rayleigh channel for NLOS ( Ricean K value  may be chosen as above)
15. Simulate base station beamforming
16. Estimate ,DL and UL througput via all the required parameters in the calibration doc.
17. Move the UE to another position and repeat steps 13- 16
18. Repeat step 7 for at least 1000 locations
19. Compute DL and UL through put cdfs.
20. Compare results with the currently chosen approximate method.
Compare the cdfs in 2.1 step 10 with 2.3 step 19. The 5%vcdf should NOT degraded by more than 5%

1

2

